

$$\cos xy = \sqrt{xy+1}, \quad [x_0, y_0] = [1, 0]$$

•  $F(x, y) = \cos xy - \sqrt{xy+1}$  je třídy  $C^\infty$  na nějakém okolí  $[1, 0]$  +1

•  $F(1, 0) = \cos 0 - \sqrt{0+1} = 0$  +1

•  $\frac{dF}{dy}(1, 0) = \left( -(\sin xy) x - \frac{x}{2\sqrt{xy+1}} \right)_{(xy)=(1,0)} = -\frac{1}{2\sqrt{1}} = -\frac{1}{2} \neq 0$  +3

kor F  
 $\Rightarrow \exists U \ni 1 \exists V \ni 0 \forall x \in U \exists ! y \in V : F(x, y) = 0$ . Tato funkce je třídy  $C^\infty$ . +3

Řadme  $\cos x y(x) - \sqrt{x y(x) + 1} = 0, \quad x \in U$

$$-(\sin x y(x)) (y(x) + x y'(x)) - \frac{y(x) + x y'(x)}{2\sqrt{x y(x) + 1}} = 0 \quad +9$$

$x=1:$   
 $y(1)=0$   $-\sin 0 (0 + 1 \cdot y'(1)) - \frac{0 + 1 y'(1)}{2\sqrt{0+1}} = 0$

$$\frac{y'(1)}{2} = 0$$

$$y'(1) = 0 \quad +3$$

$$f = (x^2 + 2y^2) e^{-2x^2 - y^2}, \quad M = \{x \geq 0, y \geq 0\}.$$

$$\begin{aligned} \nabla f &= (2x e^{-2x^2 - y^2} + (x^2 + 2y^2) e^{-2x^2 - y^2} (-4x), \\ &\quad 4y e^{-2x^2 - y^2} + (x^2 + 2y^2) e^{-2x^2 - y^2} (-2y)) \\ &= e^{-2x^2 - y^2} (2x - 4x(x^2 + 2y^2), 4y - 2y(x^2 + 2y^2)) \end{aligned}$$

$$\nabla f = 0 \Leftrightarrow (x, y) \in \text{Int } M \Leftrightarrow \begin{cases} 1 - 2(x^2 + 2y^2) = 0 \\ 2 - 1(x^2 + 2y^2) = 0 \end{cases} \quad \begin{matrix} +2 \\ \text{nemôže byť} \end{matrix}$$

$$M_1 = \{(x, 0) : x \geq 0\}, \quad g(x) = x^2 e^{-2x^2}, \quad \text{pal } g(0) = 0, \quad g'(x) \xrightarrow{x \rightarrow \infty} 0$$

$$g'(x) = 2x e^{-2x^2} + x^2 e^{-2x^2} (-4x) = e^{-2x^2} (2x - 4x^3) = 0$$

$$\Leftrightarrow x = \frac{1}{\sqrt{2}} \quad +3$$

$$M_2 = \{(0, y) : y \geq 0\}, \quad g(y) = 2y^2 e^{-y^2}, \quad \text{pal } g(0) = 0, \quad g'(y) \xrightarrow{y \rightarrow \infty} 0$$

$$g'(y) = 2(2y e^{-y^2} + y^2 e^{-y^2} (-2y)) = 4y e^{-y^2} (1 - y^2) = 0$$

$$\Leftrightarrow y = 1 \quad +3$$

$$\Rightarrow \left[ \frac{1}{\sqrt{2}}, 0 \right], \left[ 0, 1 \right], \quad \text{pal } f(\alpha) = \frac{1}{2} e^{-2 \cdot \frac{1}{2}} = \frac{1}{2} e^{-1}$$

$$f(\beta) = 2 \cdot 1 e^{-1} = 2e^{-1}$$

$$f(x, y) \leq 2(x^2 + y^2) e^{-x^2 - y^2} = 2(x^2 + y^2) e^{-(x^2 + y^2)}$$

Jeli:bož  $r e^{-r} \rightarrow 0$  pri  $r \rightarrow \infty$ , existuje  $r_0 > 0$ , že pre  $r \geq r_0$  platí  $2r e^{-r} < f(\beta)$

Pal  $M = M \cap B(\sigma, r_0)$  je kpt. a  $\beta \in M$ . Pal

$$f < f(\beta) \text{ na } M \setminus \beta \quad +5$$

$\max_{M \setminus \beta} f(x) = f(\beta)$ : • univ.  $M$  má podčiarkový bod

• na hranici o polomere  $r_0$  a  $M$  tū platí  $f < f(\beta)$

$$\Rightarrow \max f(M) = f(\beta), \quad \text{jeli:bož } f(0,0) = 0 \text{ je } \min f(M) = 0.$$

$$\left( \begin{array}{cccc|c} 7 & 1 & 3 & -11 & k \\ 3 & 0 & 0 & -2 & 2 \\ 0 & 0 & -3 & 7 & 8 \\ 1 & -1 & 0 & 0 & 0 \end{array} \right) \xrightarrow{+1} \left( \begin{array}{cccc|c} 1 & -1 & 0 & 0 & 0 \\ 3 & 0 & 0 & -2 & 2 \\ 0 & 0 & -3 & 7 & 8 \\ 7 & 1 & 3 & -11 & k \end{array} \right)$$

$$\xrightarrow{+3} \left( \begin{array}{cccc|c} 1 & -1 & 0 & 0 & 0 \\ 0 & 3 & 0 & -2 & -2 \\ 0 & 0 & -3 & 7 & 8 \\ 0 & 8 & 3 & -11 & k \end{array} \right) \xrightarrow{+3} \left( \begin{array}{cccc|c} 1 & -1 & 0 & 0 & 0 \\ 0 & 3 & 0 & -2 & 2 \\ 0 & 0 & -3 & 7 & 8 \\ 0 & 0 & 3 & \frac{-11}{3} & \frac{3k-16}{3} \end{array} \right)$$

$$\xrightarrow{+3} \left( \begin{array}{cccc|c} 1 & -1 & 0 & 0 & 0 \\ 0 & 3 & 0 & -2 & 2 \\ 0 & 0 & -3 & 7 & 8 \\ 0 & 0 & 0 & \frac{4}{3} & k + \frac{1}{3} \end{array} \right)$$

$$x_4 = \frac{3}{4}k + 2$$

$$x_3 = \frac{7}{3}k + 2$$

+4

$$x_2 = \frac{2}{3}k + 2$$

$$x_1 = \frac{1}{2}k + 2, \quad k \in \mathbb{R}$$

$$\sum (-1)^n \frac{(e^{1/n^p} - 1)}{n^p}, \text{ pak } a_n \geq 0 \quad p=0 \dots \text{diverguje} \quad +1$$

$p > 0$ :

A.K.:  $\sum a_n$  rovníkem  $\sum b_n = \sum \frac{1}{n^p} + 3$ , pak

$$\frac{a_n}{b_n} = \frac{e^{1/n^p} - 1}{n^p}, \quad n^p = \frac{e^{1/n^p} - 1}{1/n^p} \rightarrow 1 \quad +3$$

$$\Rightarrow \left( \sum a_n \text{ konv. } \Leftrightarrow \sum \frac{1}{n^p} \text{ konv. } \Leftrightarrow \begin{matrix} p > 1 \\ p > 1/6 \end{matrix} \right) \quad +1$$

N.A.K.:  $\frac{1}{n^p} = x \Rightarrow$  n-dim funkci  $x^5(e^x - 1)$ , k je  $p = x > 0$  rostoucí,  $+4$

tedy  $a_n > a_{n+1}, n \in \mathbb{N}$ . Dále

$$\frac{e^{1/n^p} - 1}{n^p} = \frac{e^{1/n^p} - 1}{\frac{1}{n^p} n^p n^p} = \frac{e^{1/n^p} - 1}{\frac{1}{n^p} n^p} \rightarrow 0 \quad +2$$

vidíme  $\Rightarrow \sum (-1)^n a_n$  konverguje  $+1$

